
2023 PRIMARY 6 PRELIMINARY EXAMINATION 

Name: 

Class: Primary 6 ( ) 

Parent's Signature: _______ _ 

Date: 21 August 2023 

Time: 8.00 a.m. - 9.00 a.m. 

Marks: 1100 
---

Paper 1 comprises 2 booklets, A and B. 

MATHEMATICS 

PAPER 1 

(BOOKLET A) 
. . . 

... ... ... - -... ..  _ . · -

INSTRUCTIONS TO CANDIDATES 

1. Write your name, class and register number.

2. Do not turn over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

20 
. .

.. .... . 

5. Shade your answers in the Optical Answer Sheet (OAS) provided.
-

6. The use of calculators is NOT allowed1•

. . 
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0.175 

4m + 1 

14 

1.1t 

72 

3350 

3449 

D . 3 6 ev1 spent - = -
4 8 

: . 2 6 ·: Ah spent - = -1 5 15 
D:A = 8:15 

5km -1km = 4km 
4km + 0.4km = 10 
1 min 30s = 90s 
90 + 45 = 2 
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.. 

.. 

I. 

- .- . . 

Taxi fare = $3.40 + (10 x $0.25) + (2 x $0.25) = $6.40

4kg = 4000g 
024 ! 4000 + 100 = 40 

1 
i 40 X $2.40 = $96

025 4 
5

x75% = 60%

Area of .6.PSR = 0.5 x 8 x 18 = 72 cm2 

026 Area of .6.PSR = 0.5 x 4 x 9 = 18 cm2 

Area of TORS = 72 - 18 = 54 cm2 

2 05 2 

1 Q10 2 

3 Q15 4 
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(TT x 5) + 5 + 3 + 4 = 27.7cm2 

LFBD = 58° 

LEFD = 58° + 21° = 79° 

01 $(9b + 7) + $(9b + b + 7) = $(19b + 14) 

02 

Sunday 
C: L:M 

= 5 : 11 : 20 
= 10: 22: 40 

Monday 
C: L :M 

= 15: 22: 36 

03 South 

04 

05 

Roses = 16u 
Orchids = 5u 

Fraction sold= 7 + (16 + 5) = ! 

LGCD = 180° -51° 
= 129° 

06a LFCD = 180° -104°
= 76° 

06b 

LFCG = 129° -76° 
= 53° 

LGCA= 104° -53° = 51° 

LCAG = 180° -90° -51°
= 39° 

,. 
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Q7a

Q7b

Q7c

QB 

Q9

120 -70 = 50
SO 

X 100% = 71�%70 7 
(90+4)+2 = 47

90 X 4 = 360
360 -70 -120 -90 = 80

Area of triangle XYZ = 0.5 x 10 x 10 = 50 cm2 x_ 
Area of triangle A = 0.5 x 50

= 25cm2 

Area of semicircle = 0.5 x 3.14 x 52 
10cm 

= 39.25cm2 

2 area B + area A = area of semicircle
Area B = (39.25 -25) + 2

= 7.125cm2 

Shaded area = 25 -7 .125
= 17.875cm2 

Fraction Ai Le used = 

1
� = ��

Fraction Bee Huan used = 

1
� = 

2
2
0

°0
Fraction Cally used = 

1
5
0 

= !�
Since all 3 used same amount, find LCM of 1, 4 & 5 = 20
8.7m = 50u + 200u + 40u = 290u
Units left = 290u -20u -20u -20u = 230u

230 8.7 x 
290 

= 6.9m = 690cm

3.5km x 2 = 7km
By the time Steve reach the finishing line, Ralph would be 7km past the

·q10- · · ·finishing line . _- · ·-- · · · · 

Q11

Time take for Ralph to cover 7km = 7 + 20 = 21 min
Time Steve reached finishing line = 21 min after 10.45am = 11.06am

12x12 = 144
12x7 = 84
7 X 50 = 350 

350 -84 = 266
1416 -266 = 1150
1150 + 50 = 23
23 + 19 = 42
42 X 2 = 84 

LABX = LXBY = (180° -82° ) + 2 = 49° 

O12a LYBC = 180° -49° 
= 131° 

·LC = (180° -131° ) + 2 = 24.5° 
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013 
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O14b 

O15a 

O15b 

O16a 

O16b 

- ... 
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O16c 

017 

LAXY = 49° X 2 = 98° 

LL'fX = 82° - 19° = 63° 

LXZ.Y = 180° - 98° - 63° = 19° 

LW = 180° - (57° + 19°) = 104
° 

15u - 210 = 8u 
7u = 210 
1u = 30 
25u = 25 X 30 = 750 
750 + 210 = 960

Let length of small cube be 1 u, length of big cube be 2u 
Volume of small cube = 1 cm3 

Volume of large cube = 8cm3 

8 small cubes can fit into 1 large cube 
Need 2 more large cubes to form the larger cube -+ 16 small cubes 

Length of new cube = y2"744 = 14cm
Length of new cube is made up of 4 small cubes: 14 + 4 = 3.5cm

(29 + 30 + 31 + 37 + 39 + 45 + 46 + 47) + 8 = 38

Pattern: average of the 8 numbers in plastic frame is covered by black box 
Average of 344 = 344 + 8 = 43 -+ black box is on 43 
Sum of all even numbers = 34 + 36 + 42 + 44 + 50 + 52 = 258

(1284 + 828) + 2 = 1056

1284 - 828 = 228 
6 x4 = 24 
1056 + 24 = 44 
44- 6 = 38
2"2i

f

+"38 ;:; 6 
. . 

. ..... 

1056 + 24 = 44

49 cm - 3 cm = 46 cm 
DC = 46 + 2 = 23 cm 
EC= 23 - 3 = 20 cm 
Perimeter of ABCD = perimeter of CEFG = 4 x 23 = 92 cm 
EF = (92 - 20 - 20) + 2 = 26 cm 
Area of figure = 23 x 23 + 20 x 26 = 1049 cm2 
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